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lj1fg tyf k|ljlw ljifosf] lgbfgfTds k/LIf0f, pŒf/s'l~hsf / cª\sg cfwf/ 

sIff ^, ;]6 s 

Marking Scheme 

Group A 

1. C 2. D 3. C 4. C 5. B 

6. B 7. A 8. B 9. B 10. B 

11. C 12. D 13. B 14.  C 15. D 
 

Group B 

1. 1 mark for each correct response maximum      1 mark 

– It gives directly birth to a baby 

– It possesses mammary gland to suckle milk to its baby 

or any other two correct response 

2. Ecosystem.                     1 mark 

3. Chemical energy           Electrical Energy         Magnetic Energy  2 marks 

4. Chemical energy                 1 mark                             

5. 1 correct response one-mark maximum      2 marks 

– To perform daily chores easily 

– To save time of work 

6. To stop soil erosion, to conserve biodiversity etc.                                 1 mark 

7. 1. Condensation        1 mark 

2. water vapour        1 mark 
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lj1fg tyf k|ljlw ljifosf] lgbfgfTds k/LIf0f, pŒf/s'l~hsf / cª\sg cfwf/ 

sIff &, ;]6 s 

Marking Scheme 

Group A 

1 b]lv 15 ;Dd k|To]s Pp6f ;xL pQ/ 5fg]df 1 cª\ssf b/n] 

1. D 2. C 3. C 4. A   5.C  6. C   7.B   8. D 

      9. A     10. C      11. C      12. A  13. B  14. A  15. A 

  

Group B 

16. cjnf]sg ug'{ (Observing), eljiojf0fL ug'{ (Predicting), k/LIf0f ug'{ (Experimenting), 

lgisif{ lgsfNg' (Concluding),  n]v]df 1 cª\s  

17. j:t'sf] ;txsf] If]qkmn a9\bf p;sf] tfk u'dfpg] Ifdtf klg a9\5 eg] ;txsf] If]qkmn 

36\bf p;sf] tfk u'dfpg] Ifdtf klg 36\5 . To;}n] s's'/ 3'ld|P/ a:g'sf] sf/0fn] To;n] sd 

tfk u'dfpF5 / z/L/ Gofgf] /fVg ;S5 n]v]df 1 cª\s 

18. kfgLdf pd|g] la?jfdf ljsl;t h/f gx'g] ePsfn] udnfsf] df6f]af6 kfgL ;f];]/ lng 

;Sb}g jf cGo ;xL hjfkm n]v]df 1 cª\s 

19. ljR5]bs gx'g] xf] eg] d/]sf hLj hgfj/ / jg:kltx¿df ePsf] zlStnfO{ d/]sf] z/L/ 

s'xfP/ df6fdf ldnfP/ zlSt k'gM rj|m0f xF'b}gYof] eGg] n]v]df 1 cª\s 

20. l3gL{ n]v]df 1 cª\s 

21. /d]zsf] laxfg ( ah] / !! ah] 3fddf pleFbf pgsf] 5fofdf lrqdf b]vfOP h:tf] 

agfPdf 1 cªs 

 

22. ld>0fdf ePsf] t/n kbfy{nfO{ ttfP/ klxn] afkm agfpg] / To;kl5 lr:ofP/ 5'6\6} 

;ª\sng ug]{ ljlw cf;jg lj|mof xf] . To;}n] of] ljlwaf6 pDng] tfkj|md ;dfg ePsf 

cjojx¿ ePsf ld0f>nfO{ Pscsf{af6 5'6\ofpg ;lsFb}g n]v]df 1 cª\s 
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23. o;n] Knfl:6saf6 x'g] k|b"if0f lgoGq0f u5{ . 

24 k"mn     1 cª\s 

25. Pp6f ;xL leGgtfnfO{ 1 cª\s  

 lgoldt k/fjt{g lrNnf] ;txdf x'G5 eg] clgoldt k/fjt{g v;|f] ;txdf x'G5 . 

Jff 

 lgoldt k/fjt{gdf :ki6 cfs[lt aG5 eg] clgoldt k/fjt{gdf :ki6 cfs[lt aGb}g .    
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lj1fg tyf k|ljlw ljifosf] lgbfgfTds k/LIf0f, pŒf/s'l~hsf / cª\sg cfwf/ 

sIff *, ;]6 s  

Marking Scheme 

Group A 

1. A 2.  3. C 4. C 5. A 6. A 

7. C 8.  9. D 10.  A 11. B 12. D 

13. C 14. B 15. B    

  

Group B 

1. By rubbing similar poles/ by dropping the magnet/ by hammering the magnet/ by heating 

the magnet/  by passing a magnet through a solenoid or any other correct response -   1 mark 

2. Load any browser or Google Chrome in your device – 

Type the word “Taxonomy" in search bar – 

Press enter or any other correct steps     - 1 mark 

 

3. Overpopulation \ Industrialization \ Deforestation \Climate change\ Urbanisation\ Over 

exploitation of the water resources or any other sensible answer   -1 mark 

4. The process of removal of unwanted substances from the body is known as excretion / The 

process of throwing out waste from the body is known as excretion or any other sensible 

answer     -1 mark 

5. Diagram of respiratory system with labelling of any two parts -1 mark 

6.  lime stone - 1 mark 

7. Heat is the form of energy that gives the sensation of warmth temperature is the degree of 

hotness or a coldness of a body          - 1 mark 

Heat is the measure of total kinetic energy of all the molecules of a substance while temperature 

is the measure of the average kinetic energy of the molecules of the body           - 1 

mark 

8. To focus light/ To observe inside mouth as reflector or any other correct response - 1 mark 

9.  Two or 2   -1 mark 
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